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1. The angles of a peﬁté,gon ate 23:°; 3z°, 32° 32° and 4z° Find the value-éf z.

2. The sum of the interior angles of an n—mded convex polygon is double the sum of the ... . .
exterior angles. Find the value of n. :
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In the dlagram ‘above ABC’D isa quadrﬂateral with one pair of opposﬁ:e sides equal
and parallel. Cpr the diagram onfo your answer sheet and cornplete the following
procf to. show tHat the qua,drﬂateral is a parallelogram. (You need onlv write out the
proof. )
GIVEN: To prove ABCD is a quadnlateral with AD || BC and AD BC.
. AIM: To prove that AB || DC-. : .

CONSTRUCTION Joinr AC.

- ..PROOF; - :

In the ﬁgure above ABOD is a para}lelogram ’I‘he pomfs X hes on CD, the pomt Yy
on-AB and AX =CY = BC. . : '

(a) Show that AD = AX,.
" (b) Givea reason Why [ADX = AGBY

" (c) Use, the- base angles of the isosceles triangles ADX. and CBY to plove that
LAXD = [EBF /&

(d) Hence prove that AX || YC.
(e) Whyis AYCX a parallelogram? .,
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Geometry

5 On the sheet provided construct the line parallel to AB that passes through the- pomt
K . Leave in all constructiori marks.

6. ABCD is a square, E is a point on AC such that AE AB; the hne through B
perpendlcular to AC’ cuts BO DC‘ at ¥, G Prove that LFAG‘ 45" _

Tn, the figure above ABC‘D is a rhombus AP blsects IDAC .

" Prove that ZDPA = SADA_P -
Hmt Let LDAP = ¢ and LDPA ,8 and prove ﬁ = 3¢

In the figure above ABCD and APQR are squares. Prove that BP = DR. -
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